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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

That shy ............ young man had turned into a confident adult.

1) expressive 2) shameless 3) reserved 4) self-assured

Students in colleges ........... a wide age range and exhibit very varying academic abilities
and communication skills.

1) encompass 2) obtain 3) insert 4) distinguish

Wanting to make a good impression, he found himself in a .......... about the right color
suit to wear to the business meeting,.

1) repute 2) quandary 3) priority 4) deficiency

Ted fell asleep during the movie because it had a very ........... plot.

1) controversial 2) monotonous 3) impure 4) invalid

After running an early SK race, Simone ............ devoured hearty breakfast.

1) generously 2) beneficially 3) voraciously 4) dramatically

Heavy rains in March ............ the drought conditions.

1) alleviated 2) revealed 3) accelerated 4) envisioned

He argued that he was not ........... because there was other work available within the
terms of his contract of employment.

1) clumsy 2) sluggish 3) diligent 4) redundant

The ............ of the monument took five years to complete.

1) enforcement 2) restoration 3) invasion 4) improvisation

He was found guilty and ........... to life imprisonment.

1) accused 2) convicted 3) compelled 4) imposed

The entire east wing of the building was ............ in the fire.

1) renovated 2) aggravated 3) demolished 4) prohibited

Dlrectwns. Read the following passage and decide which choice (1), (2), (3), o

11-
12-
13-
14-
15-

L (4) bestf' s eacb space. Then mark the correct choice on your answer sheet.

Cinematographers remain virtually unknown outside motion-picture industry (11) ..........
their contribution sometimes matches that of the director (12) .......... . Although the director
has ultimate control over the visual image, the cinematographer actually records that image on
film, (13) .......... the director’s ideas and creating the atmosphere and the look of the film.
The association between the cinematographers and the processing laboratory is also of highest
importance because the cinematographer often spends hours (14) ......... after shooting,
checking the negative. On most feature films a camera team, (15) ......... of a director of
photography, cameraman, and assistant cameraman, shares the responsibilities.

1) even though 2) such as 3) despite 4) since

1) is important 2) of importance 3) with importance 4) and its importance

1) translates 2) to translate 3) he translates 4) translating

1) for them 2) and right 3) there 4) and

1) it often consists 2) which is often consisted

3) that consisting often 4) often consisting
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PART C: Reading Comprehenon

Directions: Read the following three passages and choose the best choice (1), (2), (3),
or (4). Then it on your answer sheet.

Passagel

Auctions are public sales of goods, conducted by an officially approved auctioneer. He asks
the crowd assembled in the auction-room to make offers or "bids", for the various items on
sale. He encourages buyers to bid higher figures, and finally names the highest bidder as the
buyer of the goods. This is called" knocking down" the goods, for the bidding ends when the
auctioneer bangs a small hammer on a table at which he stands. This is often set on a raised
platform called a rostrum.

The ancient Romans probably invented sales by auction, and the English word comes from
the Latin auction, meaning "increase". The Romans usually sold in this way the spoils taken in
war; these sales are called sub-hasta, meaning "under the spear”, a spear being stuck in the
ground as a signal for a crowd to gather. In England in the eighteenth and nineteenth centuries
goods were often sold "by the candle": a short candle was lit by the auctioneer, and bids could
be made while it stayed alight.

Practically all goods whose qualities vary are sold by auction. Among these are coffee,
hides, skins, wool, tea, cocoa, furs, spices, fruit and vegetables and drinks. Auctions sales are
also usual for land and property, antique furniture, pictures, rare books, old china and similar
works of art. The auction rooms at Christie's and Sotheby's in London and New York are
world-famous.

An auction is usually advertised beforehand and with full particulars of the articles to be sold
and where and when they can be viewed by prospective buyers. If the advertisement can not
give full details, catalogues are printed, and each group of goods to be sold together, called a
"lot", is usually given a number. The auctioneer need not begin with lot 1 and continue in
numerical order; he may wait until he registers the fact that certain dealers are in the room and
then produce the lots they are likely to be interested in. The auctioneer's services are paid in the
form of a percentage of a price the goods are sold for. The auctioneer therefore has a direct
interest in pushing up the bidding as high as possible.

The auctioneer must know fairly accurately the current market values of the goods he is
selling, and he should be acquainted with regular buyers of such goods. He will not waste time
by starting the bidding too low. He will also play on the rivalries among his buyers and
succeed in getting a high price by encouraging two business competitors to bid against each
other. It is largely on his advice that a seller will fix a "reserve" price, that is, a price below
which the goods cannot be sold. Even the best auctioneer, however, finds it difficult to stop a
"knock-out", whereby dealers illegally arrange beforehand not to bid against each other, but
nominate one of themselves as the only bidder, in the hope of buying goods at extremely low
price. If such a "knock-out" comes off, the real auction sale takes place privately afterwards
among the dealers.

Auction goods are sold --------—--—- .

1) very cheaply 2) at a price less than their true value

3) for the highest price 4) only at fixed prices

The end of the bidding is called "knocking down" because ------------- .

1) the auctioneer knocks the buyer down 2) the auctioneer bangs the table with a hammer

3) the goods are knocked down on to the table 4) the auctioneer knocks the rostrum down
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The auctioneer may decide to sell the "lots' out of order because ----—---------,
1) he knows from the experience that certain people will want to buy certain items
2) he wants to reduce the number of buyers

3) he sometimes wants to confuse the buyers

4) he wants to keep certain people waiting

A" knock-out" is arranged ------—--——-.

1) to allow one dealer only to make a profit  2) to help the auctioneer

3) to increase the auctioneer's profit 4) to keep the price in the auction-room low
The word ""prospective " in paragraph 4 is closest in meaning to -------=ven-,

1) future 2) enthusiastic 3) participating 4) satisfied
Passage2

There are spectacular differences between financial markets on the Continent of Europe on
the one hand, and in Britain on the other hand. In Britain, the market is really the City of
London. It is a free market, and it controls most of the flow of savings to investment. On the
Continent, either a few banks or government officials direct the flow of funds to suit their
economic plans. In Germany the flow is directed by all-powerful banks. In Britain there is
more free interplay of market forces and far fewer regulations, rules and “red tape”. A French
banker summed it up this way: “On the Continent you can’t do anything unless you’ve been
told you can; in England on the other hand you can do everything as long as you haven’t been
told not to.”

There are many basic reasons for these differences. One is that Continental savers tend to
prefer gold, cash or short-term assets. They invest only 10% of their savings in institutions like
pension funds or insurance companies. But in Britain 50% of savings goes to them, and they, in
turn, invest directly in equity market. A far lower proportion of savings is put in the banks in
the form of liquid assets than on the Continent. Continental governments intervene directly or
through the banks to collect savings together and transform them into medium or long-term
loans for investment. The equity market is largely bypassed. On the Continent economic
planning tends to be far more centralized than in Britain. In Britain it is possible to influence
decisions affecting the country’s economy from within the City. It attracts a skilled and highly
qualified work force. In France, on the other hand, an intelligent young man who wants a
career in finance would probably find the civil service more attractive.

In Britain the market, or more accurately, money tends to be regarded as an end in itself. On
the Continent it is regarded as a means to an end: investment in the economy. To British eyes
continental systems with possible exception of the Dutch seem slow and inefficient. But there
is one outstanding fact the City should not overlook. Britain’s growth rates and levels of
investment over the last ten years have been much lower than on the Continent. There are
many reasons for this, but the City must take part of the blame. If it is accepted that the basic
function of a financial market is to supply industry and commerce with finance in order to
achieve desired rates of growth, it can be said that by concentrating on the market for its own
sake the City has tended to forget that basic function.

What is the best title of the passage?

1) Monetary Policy in Britain.

2) Banking and Finance: Two Different Realities.
3) The European Continent and Britain.

4) Savings and the Growth Rate.
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What seems to be the most fundamental reason for this difference?

1) The British invest only 10% of their savings in pension funds.

2) The British tend to regard money as an end. whereas Continental European consider it a
means to an end.

3) Intelligent young men who want a career tend to go to civil service on the Continent.

4) On the Continent you can’t do anything unless you have been told you can.

According to the passage, the Dutch way of finance and banking ------------- .

1) has a low efficiency.

2) makes no difference whatever system it is compared to.

3) is perhaps resembling that of the British.

4) is similar to that of the French.

The word “outstanding” in Paragraph 3 is closest in meaning to --—---—-——- .

1) excessive 2) beating 3) seeming 4) noticeable

In what way does the continental system seem better?

1) The Continent maintains a higher growth rate and levels of investment.

2) It attracts intelligent young men.

3) It has less proportion of savings in the form of liquid assets.

4) In functions properly despite the fact that the British discount it.

Passage3

What most people don’t realize is that wealth isn’t the same as income. If you make § 1
million a year and spend § 1 million, you’re not getting wealthier, you’re just living high.
Wealth is what you accumulate, not what you spend.

The most successful accumulators of wealth spend far less than they can afford on houses,
cars, vacations and entertainment. Why? Because these things offer little or no return. The
wealthy would rather put their money into investments or their businesses. It’s an attitude.
Millionaires understand that when you buy a luxury house, you buy a luxury lifestyle too. Your
property taxes skyrocket, along with the cost of utilities and insurance, and the prices of nearby
services, such as grocery stores, tend to be higher.

The rich man’s attitude can also be seen in his car. Many drive old unpretentious sedans.
Sam Walton, billionaire founder of the Wal-Mart Store, Inc., drove a pickup truck.

Most millionaires measure success by net worth, not income. Instead of taking their money
home, they plow as much as they can into their businesses, stock portfolios and other assets.
Why? Because the government doesn’t tax wealth; it taxes income you bring home for
consumption. So the more you consume, the more the government taxes.

The person who piles up net worth fastest tends to put every dollar he can into investments,
not consumption. All the while, of course, he’s reinvesting his earnings from investments and
watching his net worth soar. That’s the attitude as well.

The best wealth-builders pay careful attention to their money and seek professional advice.
Those who spend heavily on cars, boats and buses, I’ve found, tend to skimp on investment
advice. Those who skimp on the luxuries are usually more willing to pay top dollar for good
legal and financial advice.

The self-made rich develop clear goals for their money. They may wish to retire early, or
they may want to leave an estate to their children. The goals vary, but two things are
consistent: they have a dollar figure in mind-the amount they want to save by age 50, perhaps —
and they work unceasingly toward that goal.

One thing may surprise you. If you make wealth — not just income — your goal, the luxury
house you’ve been dreaming about won’t seem so alluring. You’ll have the attitude.
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Which of the following statements is true?

1) Wealth is judged according to the life style one has.

2) High income may make one live high and get rich at the same time.

3) Wealth is more of what one has made than anything else.

4) Inheritance builds an important part in one’s wealth.

By the author’s opinion, those who spend money on luxury houses and cars --—--------
1) live high and have little saved 2) have accumulated wealth in another sense
3) can show that they are among the rich 4) will not be taxed by the government
The rich put their money into business because -------—---—--

1) that is the only way to spend money yet not to be taxed by the government

2) their goal is to develop their company

3) they are not interested in luxury houses and cars

4) they can get much in return to build their wealth

The government doesn’t tax what you spend money on ----——--—-—--— .

1) cars 2) stock 3) boats 4) houses
To become wealthy, one should ---——----—--- .

1) save up his earnings 2) seek as much income as he can
3) work hard unceasingly 4) stick to the way he lives
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